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Qo0 1z rx

EEE P
SRS
2 THar2el

BSA - MM .G (B H) - MEBAIY - BAH2 Al OH SEIE Hm=2
SN HH . SA(BH) - NEAY - B2 Sh Ofl & o e
201 2EtE3| 2,000 2,000 0
01 AF22eltl 2,000 2,000 0
O a2 2,000
202 044l 3,000 0 3,000
01 =LHOA b 3,000 0 3,000
O a2 3,000
401 AIEHIZ 2B 162,000 162,000 0
01 Al&HI 160,000 160,000 0
OERmMuAHE=E 160,000
03 Al =20HYI 2,000 2,000 0
OERMMSEE=E 2,000
s 29 908, 138 717,709 190,429
= 50,400
2 260,000
& 597,738
sy 22 604,000 414,003 189,997
= 50,400
= 260,000
& 293,600
101 124 4| 84,000 14,003 69,997
= 50,400
& 33,600
04 JIZtMZ22XNsSEx 84,000 14,003 69,997
=0l &t 14,000,000& *4H 56,000
= 33,600
T 22,400
O=Aefatelol 14,000,000& *2H 28,000
= 16,800
& 11,200
401 AEHIZ 2] 520,000 400,000 120,000
= 260,000
= 260,000
01 Al&HI 509,600 384,440 125,160
OXNHSAS B 2AI 509,600
= 254,800
& 254,800
03 Al&=0HYI 10,400 8,000 2,400
OXNHAS A E2ALY 10,400
= 5,200
= 5,200
NASSLE AE2Z 304,138 303,706 432
101 QI24H| 105,000 96,000 9,000
04 JIZtMZ22XNsSEx 105,000 96,000 9,000
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SA: dEEHADA
Hu: NUEZRE
ool HeHEYY 29 (Etel &8
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
Ozl 105,000
201 ety 103, 138 125,706 ~22,568
01 At el 103, 138 73,138 30,000
Os2 BZY X S 103, 138
206 TH2HI 20,000 20,000 0
01 MEH 20,000 20,000 0
OF%E =9 ¢ H&Z 20,000
401 Al HIL 2RI 60,600 62,000 A 1,400
01 A& 60,000 61,380 A 1,380
Oz 28 y=Hel 60,000
03 Al& 20| 600 620 A20
O=z9y =2 Y=Hel 600
405 THatE S| 15,400 0 15,400
01 MHAYLSEHSH| 15,400 0 15,400
OF%a WHEA 2D 1,200
OFYAE Belg HYRY (D) 13,000
O%MHEE JIIHE 2 300, 000! *4CH 1,200
s 1,398,520 587,005 811,515
= 16,800
= 600,000
= 781,720
~29 2o 1,228,000 427,885 800, 115
= 16,800
= 600,000
= 611,200
101 Q14| 28,000 27,885 15
= 16,800
= 11,200
04 JIAH2ENSE S 28,000 27,885 15
ORCIUOIEH 29 14,000,00091 x2% 28,000
= 16,800
= 11,200
206 TH2HI 20,000 20,000 0
= 10,000
= 10,000
01 el 20,000 20,000 0
0«28 %38 S 20,000
= 10,000
= 10,000
401 AlEHIL 2O 1,180,000 380,000 800,000
= 590,000
= 590,000
01 A& 1,156,000 364,440 791,560
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2N dEEFATL
Ha: MHBYRE
ool 222y (e
_ _ _ Muo
SAN-ZH-SA(FA) - NRAY - BES Off &F o4 Ofl At ot Hws2
O+ 2B A 1,156,000
3 578,000
= 578,000
03 Al&SOHY| 24,000 8,000 16,000
042 AL A 24,000
=l 12,000
= 12,000
~22 AL 170,520 159,120 11,400
101 Q1248 105,000 91,200 13,800
04 JARZRIISES 105,000 91,200 13,800
o428 2l 105,000
201 Yer2g| 45,520 45,520 0
01 AtR2elt] 5,250 5,250 0
O%=2a2e 5,250
02 T2l 40,270 40,270 0
O+=2a e 40,270
206 T 2H| 20,000 20,000 0
01 T2l 20,000 20,000 0
0«22 2gzel I 10,000
OZEZE 2 3= 10,000
2Rz 454,000 722,201 268,201
BRHAZE AR 454,000 722,201 268,201
101 Q1248 90,000 51,200 38,800
04 JAMZRIS S 90,000 51,200 38,800
OBNsHerB 22l 90,000
201 Ygreg| 50,000 289,970 £239,970
01 AFR2relH] 50,000 10,000 40,000
OBXZY F8 2BX WLXU SHHS ©
= 50,000
202 01t 3,000 0 3,000
01 =2Uoi ] 3,000 0 3,000
OBMATES ASAULEE 3,000
206 T 2H| 8,000 6,000 2,000
01 T2l 8,000 6,000 2,000
OBXBASY 28 8,000
401 AIEHIL L] 300,000 370,031 A70,031
01 Al&| 300,000 367,727 N67,727
OHDIZE Z& U JH2AIE SX24 S 300,000
405 X+oarE S| 3,000 5,000 A2,000
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OSEAEAY

H o
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H o

364,034

364,034
291,227
72,807
6,600
6,600
5,280
1,320
6,000
6,000

4,800
1,200

287,400

6,600

6,000

76,634

SRR

441,000

308,700
132,300

95,500

345,500

401

AEHI 20

SR

441,000

308,700
132,300

95,500

345,500

01
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Al
OAtZ AL

Zelt
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422,811

295,968
126,843

8,620
8,620

87,111

3,820

335,700
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SN AYBAATL
HE: NYBARE
o9l SRY a2 IIBES SRESE
_ _ _ Muo
SNBSS - MRAY - BHES Aboy i =
= 6,034
= 2,586
03 Al& S CHY| 9,569 4,569 5,000
OAFEZ AN 9,569
= 6,698
= 2,871
S8 HaBeES 277,224 164,625 112,599
=2 133,893
= 143,331
NEELEEDIPN- 157,414 3,725 153,689
= 78,707
= 78,707
101 Q12| 75,152 3,725 71,427
= 37,576
= 37,576
04 JIAH22RSES 75,152 3,725 71,427
ouBHE o8y 75,152
= 37,576
= 37,576
201 Yereot| 11,670 0 11,670
= 5,835
= 5,835
01 At 22/t 11,670 0 11,670
ONP AL 11,670
= 5,835
= 5,835
202 o1l 2,000 0 2,000
=2 1,000
= 1,000
01 =Uoit] 2,000 0 2,000
ST 2,000
= 1,000
= 1,000
206 M= HI 4,586 0 4,586
=2 2,293
= 2,293
01 T2 4,586 0 4,586
OSZis S & o R 4,586
= 2,293
= 2,293
401 AEHI LS 54,006 0 54,006
= 27,003
= 27,003
01 Al&| 52,006 0 52,006
OBUSANESY 5
1,040, 1202l *50ha 52,006

_38_




SN
X XH .
S Tt

el

MEEHADA
NEUBRRE
TRY MABRIRS 9 e
_ _ _ Muo
NS H2A(SH) - MRAY - BES e @ﬂOH =
= 26,003
= 26,003
03 Al&=rhH| 2,000 0 2,000
OBUSASSYE X 2,000
= 1,000
= 1,000
405 XhaHz S| 10,000 0 10,000
= 5,000
= 5,000
01 RAUSZEH S| 10,000 0 10,000
ONZE ME 10,000
= 5,000
= 5,000
S 9T ALY 23,500 16,000 7,500
= 9,400
= 14,100
201 Ygr2g| 12,500 15,000 A2,500
= 5,000
= 7,500
01 At 22l 12,500 15,000 A2,500
QM2 SRl AtR 22| 12,500
= 5,000
= 7,500
202 OiH| 2,000 1,000 1,000
= 800
= 1,200
01 2Uj0dtl 2,000 1,000 1,000
OMET3 BSH| 2,000
=2 800
= 1,200
206 24| 1,000 0 1,000
= 400
= 600
01 T2 1,000 0 1,000
OABAR 72 1,000
= 400
= 600
405 ThaHE S| 8,000 0 8,000
= 3,200
= 4,800
01 R USEFHSH| 8,000 0 8,000
OFUHE 2| 8,000
= 3,200
= 4,800
ApeleEs 20,000 144,900 A 124,900
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A MHESZEAL
M MHEIEE
@t SR8 ek (&9 HM
_ _ HE
N33 S2(8H) - MEAMY - BAS algel ‘Oﬂ/i\_FOH BlusZ
201 Lot 20,000 20,000 0
01 At 2 20,000 20,000 0
Oget 20,000
HES23 76,310 0 76,310
= 45,786
[ 30,524
101 el 73,418 0 73,418
= 44,051
< 29,367
04 DJI2+Hl 73,418 0 73,418
OFy= 73,418
= 44,051
< 29,367
201 B3 2,240 0 2,240
= 1,344
[ 896
01 ALR2te 2,240 0 2,240
O%I& 800
= 480
< 320
Oll=H 1,440
= 864
T 576
202 O 652 0 652
= 391
< 261
01 =0l 652 0 652
OneEs gRxx 652
= 391
[ 261
METUREA=SH 1,191,476 818,219 373,257
= 600,908
7 < 590,568
TEAY 132,234 10,219 122,015
= 71,287
< 60,947
401 Al&H] 132,234 10,219 122,015
= 71,287
< 60,947
01 Al&HI 121,908 10,015 111,893
OZHM=x 1,205,600& *10ha 12,056
= 5,425
[ 6,631
o4 3,056,600& *10ha 30,566
= 15,589
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SN AYBAATL
Hu: MYBHRE
el MATRISA (B9 &2
_ _ _ Muo
SN EB - SA(SH) - MBAY - BES arey e timE=El
< 14,977
SEINEES 7,924,0002! 3ha 23,772
=2 11,886
= 11,886
O2URBYZ 12,834,0002 x3ha 38,502
= 19,251
= 19,251
OREEXNZE 3,100,000 *5ha 15,500
= 10,850
= 4,650
OoHI2%)) 216,000 x7ha 1,512
=2 1,058
= 454
02 22l 7,650 0 7,650
TEAY 225,0002 *34ha 7,650
= 5,355
= 2,295
03 Al&SCHHl 2,676 204 2,472
OZ ALY 2,676
= 1,873
= 803
£II RN 999,248 808,000 191,248
=2 499,624
= 499,624
401 AlEHIL 2] 999,248 808,000 191,248
= 499,624
= 499,624
01 Al 930,066 744,572 185,494
ORI 930,066
= 465,033
= 465,033
02 Z2lbl 49,200 49,200 0
O£IIPIIAL 49,200
= 24,600
= 24,600
03 Al&SHHl 19,982 14,228 5,754
ORI 19,982
= 9,991
= 9,991
N 59,994 0 59,994
= 29,997
= 29,997
401 AEHILR ] 59,994 0 59,994
= 29,997
= 29,997
01 Al 58,674 0 58,674
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SN MBI
B MREABE
el MRS A (el &
S A S9(3) o . By sk oy e 2
Ot 2 EH & 58,674
= 29,337
L= 29,337
03 AIZ R0l 1,320 0 1,320
SREEEPE 1,320
= 660
= 660
Y23 (AP EFHARA) 4,193,050 4,044,704 148,346
= 32,115
L= 4,160,935
Jl=&H 434,960 389,610 45,350
Jl=23| 434,960 389,610 45,350
201 LetEHH| 315,460 270,110 45,350
01 AtSR22/Hl 182,500 137,150 45,350
Ouged gRFH 94,400
oY=y 88, 100
02 22234l 132,960 132,960 0
O33=22Hl 132,960
202 O4Hl 119,500 119,500 0
01 =W 100,300 100,300 0
Ouglad g2Ea 100,300
02 MO 19,200 19,200 0
O A0 19,200
eIz 3,758,090 3,655,094 102,996
2 32,115
= 3,725,975
eI 3,758,090 3,655,094 102,996
= 32,115
= 3,725,975
101 Q14| 3,556,390 3,459,714 96,676
= 32,115
< 3,524,275
01 E= 2,564,284 2,529,120 35,164
O =H 66,082
-4=(1¢! 66,082
Oogery 714,717
-5 305 (3¢2!) 106,607
-6z 225 (12¢91) 340,272
72 205(109!) 247,800
-8= 155 (1¢!) 20,038
OJls& 426,246
-8= 255 (52!) 120,270
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